


The WORK done to lift it to the height 

equals the __________ at the height
Roller Coaster Physics - Energy
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Point 1: PEis m*gth

KE is

Train is released and begins to
coast

As increases, PE increases

Point 3: PE is ,KEis

Total Energy at this point is

As train moves down, transforms as Point 1 and 2

into and increases.

Lift Hill:

As the train is pulled
upwards, the coaster
is creating a huge
gravitational potential
energy (Height)

As increases, decrease

Since it is linear, As KE increases, so does
: KE= (1/2mv3)

As train moves up, transforms

and increases.

into

As increases, decreases.

Since it is linear, As KE decreases, so
does speed (1/2mv?)

+

Point 4: KE is large, PE is small

Point 2: KEis ,S0is (lowest point, fastest) and PEis

Total Energy at this point is the

Total Energy at this point is as Point 1 same as Points 1, 2, & 3

Law of Conservation of Energy: Energy cannot be or

Although the potential energy and kinetic energy change quite a bit, their total ideally stays constant (at 100%) starting at the top of the it
and while the frain coasts around the roller coaster.

In this ideal case, we say that the total energy is "conserved." Therefore , Total Energy at the beginning Total Energy at the end.
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